Histogram for Weight of 1970s Los Angeles Angels Baseball Team
Frequency

1. How many players weigh more
8 than 200 pounds?
2. Aride at Disney can only support
1,000 pounds. Can the biggest 4
6 players ride?
a. Assume they are the
4 lightest they are allowed to
be.
b. Assume they are the
2 fattest they are allowed to
be.
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Home Work

Due: u2d2 hw (Measures of Center)

Assigned: u2d3 Rockets Team hw
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" A3 Class Perl—oa:.............

Remind.com

To receive messages via text, text
@67ac4 to 81010. You can opt-out

of messages at anytime by replying,

'unsubscribe @67ac4’.

Trouble using 810107 Try texting

@67ac4 to (786) 837-6620 instead.

Student Name:

lunderstand that it is my responsibility to complete my
homework every week. Initial:

I understand that by not bringing my homework to school 1
torfeit my grade and will receive a ZERO for this homework.
Initial:

This is the __time I've filled out this form.

Student Sig Dale

To:

81010 Enter this number

Message:

@67ac4 Text this message

*Standard text message rates apply.




Unit 2: Data

Day 3/7: Box Plots
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® From here we can then find the upper and lower
quartiles as well as the upper and lower extremes.
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® The median splits the data set in half.
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- Box|Plot |-

® The lower quartile is the median of the bottom half of
the data (to the left of the median).
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® The upper quartile is the median of the top half of the
data (to the right of the median).




® Now rewrite our data with all quartiles marked off:
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® Now rewrite our data with all quartiles marked off:
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® The lower extreme or minimum value is the lowest
number in the data set.

[3,4,14 1[4, 5,]8,[8, 9]9.5[10,11]

® The lower extreme for this data set = 3

® The upper extreme or maximum value is the highest
number in the data set.

[3,4,]4 1[4, 5,]8,[8,9]9.5[10,11]

The upper extreme for this data set = 11




[3,4,]4[4,5,]8,[8, 9]9.5[10,11]

Five Number Summery
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Number of Smiles

S
% \D 8,21,7,1,2,4,4,20,19,12,9, 7, 20,

Number of Smiles
Gw\e

10; 11. 11; 8: 2, 12, 14, 15, 8 15; 3: 0, 19,

‘w‘\'os Szo(' e N\QSH'T




I Drawing a Box Plot. =

Example 1: Draw a Box plot for the data below
.
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I Drawing a Box Plot. |

Example 1: Draw a Box plot for the data below
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I Drawing a Box Plot. I

Example 2: Draw a Box plot for the data below
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I Drawing a Box Plot.

Example 2: Draw a Box plot for the data below
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I Drawing a Box Plot. I

Example 3 : Stuart recorded the heights in cm of boys in his
class as shown below. Draw a box plot for this data.
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btw | am 188 cm tall

I Drawing a Box Plot. I

Example 3 : Stuart recorded the heights in cm of boys in his
class as shown below. Draw a box plot for this data.
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I Drawing a Box Plot. I

Question: Gemma recorded the heights in cm of girls in the same class and
constructed a box plot from the data. The box plots for both boys and girls
are shown below. Use the box plots to choose some correct statements
comparing heights of boys and girls in the class. Justify your answers.

Boys
l P
| | | | | | [ | |
130 140 150 160 170 180 cm 190
| =
Girls
(ot it

1. The girls are taller on average. 2. The boys are faller on average.
3. The girls show less variability in heigh’r.gx"!‘ 5. The smallest person is a gir‘l.’“’JQ

4. The boys show less variability in heighf(‘ & 6. The tallest personis a boy.'“Je

I Drawing a Box Plot. I

Question: Gemma recorded the heights in cm of girls in the same class and
constructed a box plot from the data. The box plots for both boys and girls
are shown below. Use the box plots to choose some correct statements
comparing heights of boys and girls in the class. Justify your answers.
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True or False T

Top 25% of boys are ALL taller than the top 25% of girls. -]}UQ

The top 25% of girls are ALL taller than the lower 75% of boys. {-a\s€



---—{Box|Plot |-
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Find t ive Number Summery for Boys

Range???

* Median = |?’| ?
Mode???

« Lower Quartile = ‘58 ?
Mean???

* Upper Quartile = | 30

+ Lower Extreme = ra?

. Box|Plot f--- !
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Girls

Find the Five Number Summery for Girls

i Men = o0 Do it on your own!!!
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---—{Box|Plot |-

| can easily find: | cannot find:

_ (I can guess very accurately
* Median = * Mean =????  for special sets of data)
+ Lower Quartile = + Mode = ??77?

* Upper Quartile =
+ Lower Extreme =

* Upper Extreme =

+ Range=
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Takes work:

* Mean =

Lower Quartile = LIS 5_ | o

| can easily find: Takes work: i | cannot ﬁnd:/
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*+ *Range = « Mean
*» *Lower Extreme = « Median
» *Upper Extreme = + Mode

+ Lower Quartile
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Heights of 30 people
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Frequency
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139.5 149.5 159.5 169.5 179.5 1805 1995

Heights in ¢m www.analyzemath.com
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159.5

169.5

Heights in cm www.analyzemath.com

| can easily find:
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Heights of 30 people
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1395 1495 1595 169.5 179.5 189.5 1995
| cannot find:
Heights in cm www.analyzemath.com
*+ Mean

+ Median

+ Mode
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139.5 149.5 159.5 169.5 179.5 189.5 199.5

Heights in ¢cm www.analyzemath.com

a) How many people have heights between 159.5 and 169.5 cm?

b) How many éﬁ?ie have heights less than 159.5 cm?
Y

How many people have heights more than 169.5 cm?
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